
CS-00011205_KARAKURI STACKING_DRAFTDWG. NAME:

SOLUTION:

EdderAcuñaMora
MSANDOVAL

 

Unless otherwise specified, all measures are in mm

CUSTOMER:
MABE

PAGE: 1

MEXICO

Solid Edge

6/4/2023

 

System

DESIGN BY:

DRAWING BY:

CUSTOMER
APPROVAL

 

PROYECT NAME:
CS-00011205_KARAKURI STACKING.asm

 

5/13/2023

REV.:



CS-00011205_KARAKURI STACKING_DRAFTDWG. NAME:

SOLUTION:

EdderAcuñaMora
MSANDOVAL

 

Unless otherwise specified, all measures are in mm

CUSTOMER:
MABE

PAGE: 2

MEXICO

Solid Edge

6/4/2023

 

System

DESIGN BY:

DRAWING BY:

CUSTOMER
APPROVAL

 

PROYECT NAME:
CS-00011205_KARAKURI STACKING.asm

 

5/13/2023

REV.:

540

500700

0

48

103.97

163.97

710

487

0

74

319

627

670

555

500

230 352.18 450690 205

177.7

82.5



CS-00011205_KARAKURI STACKING_DRAFTDWG. NAME:

SOLUTION:

EdderAcuñaMora
MSANDOVAL

 

Unless otherwise specified, all measures are in mm

CUSTOMER:
MABE

PAGE: 3

MEXICO

Solid Edge

6/4/2023

 

System

DESIGN BY:

DRAWING BY:

CUSTOMER
APPROVAL

 

PROYECT NAME:
CS-00011205_KARAKURI STACKING.asm

 

5/13/2023

REV.:

1

2

4

3

    1
FRAME

         2
BOX HOLDER

    3
FRONT
STRUCTURE

      4
INPUT
CONVEYOR



 

CS-00011205_KARAKURI STACKING_DRAFTDWG. NAME:

SOLUTION:

EdderAcuñaMora
MSANDOVAL

 

Unless otherwise specified, all measures are in mm

CUSTOMER:
MABE

PAGE: 4

MEXICO

Solid Edge

6/4/2023

 

System

DESIGN BY:

DRAWING BY:

CUSTOMER
APPROVAL

 

PROYECT NAME:
CS-00011205_KARAKURI STACKING.asm

 

5/13/2023

REV.:

Verbinder D30
0062356

Cap, Tube D30, grey similar to RAL 7042
0062978

Transverse Fastener D30
0063790

Multiblock D30
0062996

Cable Pulley Wheel D42 D6-12
0068216

Release Unit D30 Bar 70/45
0065882

Fastener D30, internal
0066952

Adapter 6 30x30/D30, natural
0065632

Spacer Bushing D17-D8-15
0068565

T-Slot Nut V 8 St M6, bright zinc-plated
0048050

Tube End Cap D30, grey
0064396

Bracket 6 D30, bright zinc-plated
0065826

A

DETALLE  A

Pivot Bearing Set
0066951

B

DETALLE  B

Tool Balancer 1-2 kg, Synthetic Fibre Cable
0068287

Transverse Fastener D30
0063790

Cap, Profile Tube 8 D30, grey
0066695

    1
FRAME



 

CS-00011205_KARAKURI STACKING_DRAFTDWG. NAME:

SOLUTION:

EdderAcuñaMora
MSANDOVAL

 

Unless otherwise specified, all measures are in mm

CUSTOMER:
MABE

PAGE: 5

MEXICO

Solid Edge

6/4/2023

 

System

DESIGN BY:

DRAWING BY:

CUSTOMER
APPROVAL

 

PROYECT NAME:
CS-00011205_KARAKURI STACKING.asm

 

5/13/2023

REV.:

Profilrohr D30
0062828
L=400mm

Profilrohr D30
0062828
L=500mm

Profile Tube D30, natural
0062828
L=700mm

Profilrohr D30
0062828
L=592mm

Profile Tube 8 D30, natural
0066394
L=110mm

Profile Tube D30, natural
0062828
L=700mm

Profile Tube D30, natural
0062828
L=185mm

Profilrohr D30
0062828
L=80mm

Profile 6 30x12 light, natural
0047805
L=75mm

Profile Tube D30, natural
0062828
L=320mm

Profilrohr D30
0062828
L=80mm

Profile Tube 8 D30, natural
0066394
L=110mm

Profilrohr D30
0062828
L=500mm

    1
FRAME



 

CS-00011205_KARAKURI STACKING_DRAFTDWG. NAME:

SOLUTION:

EdderAcuñaMora
MSANDOVAL

 

Unless otherwise specified, all measures are in mm

CUSTOMER:
MABE

PAGE: 6

MEXICO

Solid Edge

6/4/2023

 

System

DESIGN BY:

DRAWING BY:

CUSTOMER
APPROVAL

 

PROYECT NAME:
CS-00011205_KARAKURI STACKING.asm

 

5/13/2023

REV.:

72
151

190 12
51

130

11

134.53

68.18

C

DETALLE  C

109°

D
DETALLE  D

Fix the pulley cable wheel in the variofix block
Tension can be adjust
turning this center handle.

500

052
106

216321426

0109.2

238.2

313.2426

343.2

0

207.2

252.4

572.5

663.2

294.7

    1
FRAME



 

CS-00011205_KARAKURI STACKING_DRAFTDWG. NAME:

SOLUTION:

EdderAcuñaMora
MSANDOVAL

 

Unless otherwise specified, all measures are in mm

CUSTOMER:
MABE

PAGE: 7

MEXICO

Solid Edge

6/4/2023

 

System

DESIGN BY:

DRAWING BY:

CUSTOMER
APPROVAL

 

PROYECT NAME:
CS-00011205_KARAKURI STACKING.asm

 

5/13/2023

REV.:

Roller Set 8 D30-30
0068151

Cap, Profile Tube 8 D30, grey
0066695

Fastener D30
0062356

Transverse Fastener D30
0063790

Parallel Fastener D30-60
0068221

Roller Conveyor 6 40x40 E Guide Rail e60, natural
0065409

Cap, Tube D30, grey similar to RAL 7042
0062978

Rollenschiene 8 Abdeckplatte 40x40
0062229

Rolle D30-23, grau
0062036

Fastener D30, internal
0066952

E

DETALLE  E

Cable End Link D12-34
0068602

Multiblock D30
0062996

Ring Bolt D10 M6x45
0068717

Bracket 6 D30, bright zinc-plated
0065826

Bracket 6 D30, bright zinc-plated
0065826

Threaded Insert, Profile Tube D30 M6 Al
0067516

Roller D30-D6-16
0068168

Spacer Bushing D17-D6-12
0068167

         2
BOX HOLDER



 

CS-00011205_KARAKURI STACKING_DRAFTDWG. NAME:

SOLUTION:

EdderAcuñaMora
MSANDOVAL

 

Unless otherwise specified, all measures are in mm

CUSTOMER:
MABE

PAGE: 8

MEXICO

Solid Edge

6/4/2023

 

System

DESIGN BY:

DRAWING BY:

CUSTOMER
APPROVAL

 

PROYECT NAME:
CS-00011205_KARAKURI STACKING.asm

 

5/13/2023

REV.:

Profile Tube 8 D30, natural
0066394
L=200mm

Profilrohr D30
0062828
L=92mm

Profilrohr D30
0062828
L=610mm

Castor Rail 6 40x40 E, natural
0065129
L=200mm

Profile Tube 8 D30, natural
0066394
L=200mm

Profile Tube D30, natural
0062828
L=350mm

Profile Tube D30, natural
0062828
L=350mm

Profilrohr D30
0062828
L=280mm

Profile Tube D30, natural
0062828
L=420mm

         2
BOX HOLDER



 

CS-00011205_KARAKURI STACKING_DRAFTDWG. NAME:

SOLUTION:

EdderAcuñaMora
MSANDOVAL

 

Unless otherwise specified, all measures are in mm

CUSTOMER:
MABE

PAGE: 9

MEXICO

Solid Edge

6/4/2023

 

System

DESIGN BY:

DRAWING BY:

CUSTOMER
APPROVAL

 

PROYECT NAME:
CS-00011205_KARAKURI STACKING.asm

 

5/13/2023

REV.:

28

150

6

530

45

280

115

124.2

42157.2

106.2

310.8

450

33.6167.2

610

40
45

         2
BOX HOLDER



 

CS-00011205_KARAKURI STACKING_DRAFTDWG. NAME:

SOLUTION:

EdderAcuñaMora
MSANDOVAL

 

Unless otherwise specified, all measures are in mm

CUSTOMER:
MABE

PAGE: 10

MEXICO

Solid Edge

6/4/2023

 

System

DESIGN BY:

DRAWING BY:

CUSTOMER
APPROVAL

 

PROYECT NAME:
CS-00011205_KARAKURI STACKING.asm

 

5/13/2023

REV.:

Cap, Tube D30, grey similar to RAL 7042
0062978

Bracing Strut D30-90°
0062995 Parallel Fastener D30

0062994

Cap, Tube D30, grey similar to RAL 7042
0062978

Cap, Tube D30, grey similar to RAL 7042
0062978

Fastener D30, internal
0066952

Fastener D30, internal
0066952

Fastener D30, internal
0066952

Threaded Inset, Profile ube D30 M8 Al
0067517

Pivot Bearing Set D30-28_5 M8
0068399

    3
FRONT
STRUCTURE



 

CS-00011205_KARAKURI STACKING_DRAFTDWG. NAME:

SOLUTION:

EdderAcuñaMora
MSANDOVAL

 

Unless otherwise specified, all measures are in mm

CUSTOMER:
MABE

PAGE: 11

MEXICO

Solid Edge

6/4/2023

 

System

DESIGN BY:

DRAWING BY:

CUSTOMER
APPROVAL

 

PROYECT NAME:
CS-00011205_KARAKURI STACKING.asm

 

5/13/2023

REV.:

Profile Tube D30, natural
0062828
L=455mm

Profile Tube D30, natural
0062828
L=90mm

Profilrohr D30
0062828
L=500mm

Profile Tube D30, natural
0062828
L=690mm

Profilrohr D30
0062828
L=590mm

Profile Tube D30, natural
0062828
L=432mm

Profile Tube D30, natural
0062828
L=455mm

Profilrohr D30
0062828
L=500mm

    3
FRONT
STRUCTURE



 

CS-00011205_KARAKURI STACKING_DRAFTDWG. NAME:

SOLUTION:

EdderAcuñaMora
MSANDOVAL

 

Unless otherwise specified, all measures are in mm

CUSTOMER:
MABE

PAGE: 12

MEXICO

Solid Edge

6/4/2023

 

System

DESIGN BY:

DRAWING BY:

CUSTOMER
APPROVAL

 

PROYECT NAME:
CS-00011205_KARAKURI STACKING.asm

 

5/13/2023

REV.:

685.8

556

63

555

550

30

432

255.251 65.5

245

    3
FRONT
STRUCTURE



 

CS-00011205_KARAKURI STACKING_DRAFTDWG. NAME:

SOLUTION:

EdderAcuñaMora
MSANDOVAL

 

Unless otherwise specified, all measures are in mm

CUSTOMER:
MABE

PAGE: 13

MEXICO

Solid Edge

6/4/2023

 

System

DESIGN BY:

DRAWING BY:

CUSTOMER
APPROVAL

 

PROYECT NAME:
CS-00011205_KARAKURI STACKING.asm

 

5/13/2023

REV.:

Rollenschiene 8 Abdeckplatte 40x40
0062229

Castor D30-23 with Flanged Wheel, grey similar to RAL 7042
0062037

Rollenschiene 6 40x40 E
0065129
L=400mm

      4
INPUT
CONVEYOR



 

CS-00011205_KARAKURI STACKING_DRAFTDWG. NAME:

SOLUTION:

EdderAcuñaMora
MSANDOVAL

 

Unless otherwise specified, all measures are in mm

CUSTOMER:
MABE

PAGE: 14

MEXICO

Solid Edge

6/4/2023

 

System

DESIGN BY:

DRAWING BY:

CUSTOMER
APPROVAL

 

PROYECT NAME:
CS-00011205_KARAKURI STACKING.asm

 

5/13/2023

REV.:

J

DETALLE  J

T-slots must be inside of the profile.
ASSEMBLY



 

CS-00011205_KARAKURI STACKING_DRAFTDWG. NAME:

SOLUTION:

EdderAcuñaMora
MSANDOVAL

 

Unless otherwise specified, all measures are in mm

CUSTOMER:
MABE

PAGE: 15

MEXICO

Solid Edge

6/4/2023

 

System

DESIGN BY:

DRAWING BY:

CUSTOMER
APPROVAL

 

PROYECT NAME:
CS-00011205_KARAKURI STACKING.asm

 

5/13/2023

REV.:

F

DETALLE  F
50.5

93°

To fix the conveyors to the frame, we are going
to use the Bracket 65826 of the frame, keeping
a distance of 50.5 mm and an inclination of 3°.

ASSEMBLY



 

CS-00011205_KARAKURI STACKING_DRAFTDWG. NAME:

SOLUTION:

EdderAcuñaMora
MSANDOVAL

 

Unless otherwise specified, all measures are in mm

CUSTOMER:
MABE

PAGE: 16

MEXICO

Solid Edge

6/4/2023

 

System

DESIGN BY:

DRAWING BY:

CUSTOMER
APPROVAL

 

PROYECT NAME:
CS-00011205_KARAKURI STACKING.asm

 

5/13/2023

REV.:

G

DETALLE  G

Connect the tool balancer cable to the box holder, but
this cable should be throught the pulley, remember
tension can be adjust on the tool balancer.
When we put todether these sub-assemblies we
should keep in mind, that the 4 rollers should be align
to the D30 profiles in both sides.

ASSEMBLY



 

CS-00011205_KARAKURI STACKING_DRAFTDWG. NAME:

SOLUTION:

EdderAcuñaMora
MSANDOVAL

 

Unless otherwise specified, all measures are in mm

CUSTOMER:
MABE

PAGE: 17

MEXICO

Solid Edge

6/4/2023

 

System

DESIGN BY:

DRAWING BY:

CUSTOMER
APPROVAL

 

PROYECT NAME:
CS-00011205_KARAKURI STACKING.asm

 

5/13/2023

REV.:

For mounting the box holder is necessary,
removve the top rollers and after assembly the
two structures, the profiles should be
aseemble again.

ASSEMBLY



 

CS-00011205_KARAKURI STACKING_DRAFTDWG. NAME:

SOLUTION:

EdderAcuñaMora
MSANDOVAL

 

Unless otherwise specified, all measures are in mm

CUSTOMER:
MABE

PAGE: 18

MEXICO

Solid Edge

6/4/2023

 

System

DESIGN BY:

DRAWING BY:

CUSTOMER
APPROVAL

 

PROYECT NAME:
CS-00011205_KARAKURI STACKING.asm

 

5/13/2023

REV.:

ASSEMBLY

This Pivot should go inside
the fastener

Verbinder D30
0062356

Pivot Bearing Set D30-28_5 M8
0068399



CS-00011205_KARAKURI STACKING_DRAFTDWG. NAME:

SOLUTION:

EdderAcuñaMora
MSANDOVAL

 

Unless otherwise specified, all measures are in mm

CUSTOMER:
MABE

PAGE: 19

MEXICO

Solid Edge

6/4/2023

 

System

DESIGN BY:

DRAWING BY:

CUSTOMER
APPROVAL

 

PROYECT NAME:
CS-00011205_KARAKURI STACKING.asm

 

5/13/2023

REV.:

I

DETALLE  I

To join the Front Stucture to the assembly, we are
going to use the pivot bearings at the front of the
assembly, to join the Frame to it, we should garantee
that the roller of the Box Holder is between the two
side D30 Tubes.

ASSEMBLY



 

CS-00011205_KARAKURI STACKING_DRAFTDWG. NAME:

SOLUTION:

EdderAcuñaMora
MSANDOVAL

 

Unless otherwise specified, all measures are in mm

CUSTOMER:
MABE

PAGE: 20

MEXICO

Solid Edge

6/4/2023

 

System

DESIGN BY:

DRAWING BY:

CUSTOMER
APPROVAL

 

PROYECT NAME:
CS-00011205_KARAKURI STACKING.asm

 

5/13/2023

REV.:

Great job!
You finished the assembly, at this moment you only
need to check the flow of your box or package and
adjust if it's necessary.
Thanks a lot!


